
qm=;+= cfo zLif{s  @)&@÷&# sf] cg'dfg
cfGtl<s >f]t hDdf          74,729,100.00 

1=1=1 dfnkf]t 5000

1=1=3 axfn s< 400000

1=1=5 Joj;fo s< 5000000

1=1=6=1 ;jf<L btf{/aflif{s ;jf<L s< 450000

1=1=6=2 k^s] ;jf<L s< 1074600

1=1=7 ;DkQL s< 17500000

1=1=8 dgf]<~hg s< 650000

1=1=9 lj!fkg s<  240000

1=1=10 ;fKtflxs xf^s<  142000

1=1=11 kz'xf^ s<  10000000

1=2=1 ;jf<L kfls{Ë z'Ns 1900000

1=2=4=1 ;a jfxg ;]jf z'Ns 200000

1=2=4=2 af?)foGq ;]jf z'Ns 300000

1=2=4=3 zf}rfno ;]jf z'Ns 125000

1=2=4=4 ;]km\^L ^_sL ;]jf z'Ns 500000

1=2=5 crn ;DkQL d'NofÍg ;]jf z'Ns 500000

1=2=6 n]-cfp^ ;]jf z'Ns 350000

1=2=8=1 cldg ;]jf z'Ns 350000

1=2=8=2 ljnDj z'Ns 50000

1=2=8=3 #<gDj< ;]jf z'Ns 1000000

1=2=8=4 dd{t ;_ef< ;]jf z'Ns 1000000

1=2=8=5 cGo ;]jf z'Ns 50000

1=3=1 btf{ tyf gljs<)f b:t'< 450000

1=3=2 gS;f kf; b:t'< 9000000

1=3=3 l;kmfl<; tyf aS;f}gL b:t'< 8000000

1=3=4 gftf k|dfl)ft b:t'< 250000

1=3=5 cGo b:t'< 450000

1=4=3 cGo ljqmL 25000

1=5=2=1 cGo >f]t kl<rfng 900000

1=6=1 ;f_jf lkmtf{ 500000

1=6=2 Aofhaf^ cfo 100000

1=7=1 b)* hl<jfgf 650000

1=7=2=1 ef*f tyf axfnaf^ cfo 1500000

1=7=2=2 Aofsf]nf]*< ef*f 3000000

1=7=5 k]ZsL lkmtf{ 5000

1=7=6=1 ljljw cfo - ;DklQ s< jSof}tf 7500000

1=7=6=2 cGo ljljw cfo 612500

bds gu<kflnsf sfof{no

cf=j= 2072/073 sf] cg'dflgt cfosf] ljj<)f

1=



2 afXo >f]t hDdf 211473000
2=1.1.1=1 g]kfn ;<sf<jf^ - zzt{ cg'bfg 91076000

:yfgLo ljsf; z'Ns 365817 rfn' ?=6164000/-

:yfgLo ljsf; z'Ns 365817 k"Flhut ?=6912000/-

;fdflhs ;]jf ;zt{ 3650153 rfn' ?=33000000/-

Pnlhl;l*kL sfo{qmd ?=5000000/-

kz'xf^ ;'wf< sfo{qmd ?=10000000/-

kmf]xf]<d}nf Joj:yfkg ?=20000000/-

lu|gl;^L lgdf{)f ?=10000000/-

2.1.1=1=2 g]kfn ;<sf<jf^ - lgzt{ cg'bfg 24347000

gu<kflnsf cg'bfg 365803

2=1.1.1.3 g]kfn ;<sf<jf^ - cGo gub cg'bfg 0

2=2.1.1=1 lhlj;jf^ - zzt{ cg'bfg 0

2.2.1=1=2 lhlj;jf^ - lgzt{ cg'bfg 500000

2=2.1.1.3 lhlj;jf^ - cGo gub cg'bfg 0

2=3.1.1.1 cGo cg'bfg - hu]*f sf]ifaf^ 15000000

2=3.1.1=2 cGo cg'bfg - ;*s af]*{jf^ 5500000

2=3=1=1=3 cGo cg'bfg - lhNnf hg:jf:Yojf^ 600000

2=3=1=1=4 cGo cg'bfg - ljljw ;_#;_:yf 2650000

3=1=1=1 lhlj;jf^ - >f]t pkof]u s<af^ afF*kmfF* 500000

15000000

5=1 cGo cg'bfg 800000

6=1 cGo lgsf;f 500000

7.1.2 cGo C)f - gu< ljsf; sf]if 30000000

8=1=2 nfut ;xeflutf 20000000

1=22=1 gu<kflnsf sf]if df}Hbft 5000000

s'n hDdf         286,202,100.00 


